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Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?

(A)  Chittorgarh Fort (B)  Taragarh Fort

(C) Bhainsogarh Fort (D) Nahargarh Fort

(E)  Question not attempted

freferiiaa 5 @ o forct sh gazan & sfinga g foifeer sfaemespm sivd 2fe = et foh, “afe 3¢ Trsiear  foreflt STefte sh

ST S ST, e 8 4 fohe bl =T 2

(A)  feitge forem (B) R fohett

(C)  ddrTe feret (D) TETTE feRett

(E) i@ gy

Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Hadoti (B) Mewati

(C) Vagri (D)  Shekhawati

(E)  Question not attempted
SEATST, TRUX ST 36 ATHUTE o TETST &6 H i §T AT afefl STt 82

(A) TR (B) HaTdt
(C) arTet (D) S@mErEr
(E) i@ gy

In which year was Kalbelia dance form included in UNESCO’s intangible heritage list?
HTETRTOTT e el & 1 TR o o e e 3 o o wfeaferer e T oy
(A) 2008 (B) 2009

(©) 2010 (D) 2011

(E)  Question not attempted / Ha?lﬁ'ﬂ a9

foper Tmme o ot ue wem E &

(A)  FRivE (B)  dcqed
(€) wghfe (D) ¥
(E) Srgdia gy

ERIRIEIGERE R U I CIK ORI

(A)  dfegd e B) Ny
(C) FaAIIT (D) SaTEE dfgd T
(E) oFfdia gy

TIH U -7 Iee ST’ hT GTFaTE T 27

(A) oy (B) g1
© Fg (D) SiEAE®
(E) i@y
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wA - 1 : form gt a1 s form & e o forw fopam SmaT 21
HU - 11 : T Torgh o et w2 & 37 o1 3 off = S 2
ITh HUHAT o HTAT H HHTIRIT fohedl § & Faifereh 3uge St - :

(A)  HYT ST AT T & (B) %Y [ ST 11 ST TTeAd 2
(€©) FFITde fFqFeITeas| (D) A [T &, fofe] o 11 T 2
(E) SFdia sy

628,429, 183,249, 416

From the above sequence of given numbers, what is the sum of the unit digit of third number from left and tens digit
of the fourth number from the right?

L Y TR AT ok 3H H, S § A ST T ST o oS 31eh I 319 § <1 T shl HEAT o6 T8TS 31eh ol 1T 82

A 3 B) 5

< 7 D) o

(E)  Question not attempted / Hﬂﬂ'ﬁﬁ a9

Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is the only son-in-law of Bhumi’s mother.
How Ravi is related to Sangita?

(A)  Grandson (B) Uncle

(C)  Husband of granddaughter (D)  Brother-in-law

(E)  Question not attempted
gefiet 9 <t 1t Eeftar s ame 21 T i AT AT T Uk " TS 8] e 3 Ear o o w2

(A) U= (B) 3f&a
(C) uEfterufa (D) SR
(E) oFfdia gy

If ‘threat’ is coded as 289512, then ‘BRIDGESTONE’ will be coded as:

afE ‘threat’ 31 1 § 289512 =< AT ST 7, @1 ‘BRIDGESTONE’ 1 1€ BTT:
(A) 27947513855 (B) 29947612955
(C) 28947612855 (D) 29947512655
(E)  Question not attempted / Hﬂﬂﬁﬁ EE)

In Rajasthan putting a gold nail between the teeth is known as:-

(A) Daamna (B) Baari
(C)  Choonp (D) Borla
(E)  Question not attempted

ST H it o offe § G shl shicT AT ohl Shell ohl &1 hal STTeT 22

(A) <m (B) @[
(© = (D) SR
(E) oFfdia gy
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In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?
(A) Ghudla (B) Chang

(C) Dandiya (D) Gair

(E)  Question not attempted

TSTEAT o Tor® Q1o e  BieA, STiferam SR Aot sht SR 9 JTer-2is o &9 fohaft STt 82

(A) e ®) =

(C) sifeam D)

(E) oFfdia gy

Where is Nataniyon Ki Haveli situated?

(A)  Jhunjhunu (B) Churu

(C)  Jaipur (D) Lakshmangarh
(E)  Question not attempted

ATTORIT 2hT Boreft el o feord &2

A) T B) TIF

(© vAE (D) W

(E) oFfdia sy

Who among the following established mobile reading rooms and libraries at various places in Rajasthan?
(A)  Pt. Jhabar Mal Sharma (B)  Acharya Tulsi
(C) Swami Keshwanand (D)  Komal Kothari

(E)  Question not attempted
Frferfiad @ & foper s o farfiret Tl o Aierset (ST & ud edsherdl i T 62

(A) Ufved Ime 7S Il (B) = qerdt

(C) Tt FhyETE (D) A FHIBH

(E) oFfdia gy

Which of the following leaders led the Bijolia movement?

(A)  Vijay Singh Pathik (B)  Chuna Ram Punia
(C) Kanwar Vijay Pal (D)  Surendra Singh

(E)  Question not attempted
o o N o o o . o
[ TATEd T g forad [STSTTTTAT HTGTAT <l A cd [haT?

(A) oo fie uftres (B) =T TW g

(C)  wher s ure (D) wEfie

(E) oFfdia gy

Which of the following sector plays most important role in the economy of Rajasthan state?
(A)  Industry Sector (B)  Health Sector

(C)  Agriculture Sector (D)  Education Sector

(E)  Question not attempted
TR TS 8 35 § @ 19 97 &, SAca e &9 8 AT Tged T HTHT ST 82

(A) TEmEd (B) T &
(C) FWaw (D) foemem
(E) oFfdia gy
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Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A)  Cotton and Tobacco (B)  Tea and Sugarcane

(C)  Coffee and Cereals (D)  Soyabean and Cocoa

(E)  Question not attempted

rforfiae o © 9 € TS T 1 AET (1) ot 82 (FF 5 & Horel S forehed o)

(A) U R T=E (B) =M SR I
(C) ik 3R S (D) WIS 3R ikl
() SAfdia s
frfafiaa o & o #1378 &9 8-
(A)  Asfifesmr (B)  AfSIfeamr
(C)  rsfifaes (D)  erTfifereT
(E) oFfdia gy
TTH W FH-HT AR ITI[E 22
(A)  EFYI™ s Ui ST AT Uk sharet fareh| (B)  ©FYA sl Ui AT AT Uk shaiet Ttk
(C)  EITATH ST Ueh shaled AT Ut 1T ferehl| (D) =A™ st Ui SRt A1 uter sheet fereh|
(B) ruRayy
GEA1-1 o |1 Fe-11 1 et i)
w1 -1

a. W?ﬁ?ﬁﬂ L A g

b. T AT AT AT I EFHR ST TS T

c. TG W YHAT L. s foramn

d. ST SSTRAT Iv. o aeET
it fow T forspedl # & Harifersh I 3T T = T
(A) a-NILb-I,c-1V,d-1 (B) a-IV,b-ILc-1,d-1II
(C) a-ILb-IV,c-II,d-1I (D) a-MLb-1V,c-I,d-1
(B) raRayy
T 4 & forw Tt o Sfcria Tt o STt ST ot SrsiTelt &1 & AT o o 323 © U W oh o &= H sl T &2
(A)  TSTTT ferfad, 1963 (B) TSt 3ferfm, 1967
(C) Tt 9, 1973 (D) T I, 1976
(E) SAfdia s

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A) Kamlesh Mehta (B) Manika Batra

(C)  Sharath Kamal Achanta (D)  Soumyajit Ghosh
(E)  Question not attempted

T RaaTSl hl oot S B HoR &It =ig et Tod TUEah 2022 S&T fohalT Tram?

(A)  FHAI HET (B)  HfehT AT
(C) T HAS T=ar (D) Hrersiid =y
() SAfdiayy
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Which one of the following is not a Fundamental Right under the Constitution of India?
(A) Right to Education (B)  Right to Property

(C)  Right of Equality (D)  Right of Freedom

(E)  Question not attempted

FeTRad # & 19 |1 R e o qed Hiforh ST 78 82

(A)  Tarear =1 SAferRR (B)  Hufd o AfershR
(C)  TUTT 3T HATTHR (D) T T ATTRR
(E) oFfdia gy

Salt water crocodile is main fauna of which of the following biosphere reserves?
(A)  Simlipal (B)  Great Nicobar

(C) Kutch (D) Panna

(E)  Question not attempted
@ art o1 A, e # | fore sitaree e 1 e sfta 82

A) Rt (B) U e
©) &= (D) U=

(E) oFfdia sy

Which among the following is the longest river of Rajasthan?

(A)  Chambal (B) Luni

(C)  Sabarmati (D)  Khari

(E)  Question not attempted
fFreafaiad & 9 T it ged dwlt 1E Hi g

A) ®)

(C) HreHdt (D) @R

(E) oFfdia gy

The Thar desert comprises the desert triangle of three cities - (Choose the most appropriate option from below)
(A)  Jaisalmer - Jodhpur - Barmer (B)  Bikaner - Jaisalmer - Pali

(C)  Bikaner - Jaisalmer - Barmer (D)  Jaisalmer - Jodhpur - Bikaner

(E)  Question not attempted

o e & <ff 21el o LT et wfie 8, a8 @ - (e o § we S foshed )

(A)  STETHT - ST - STSHT (B) Sl - SEeTHR - reft
(C) I - ST - TSR (D)  STATHT - ST - ST
(E) oFfdia gy

Barkana water falls is situated in which of the following state of India?

(A) Karnataka (B) Goa

(C) Tamil Nadu (D)  Odisha

(E)  Question not attempted
FfeTiad el § & 9T o fohd TS H SeRMT STvaTd 6o 82

(A)  FAH (B) T
(€)  afFrTg (D) fifeam
(E) oFfdia gy
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Which of the following mineral is non-metallic and inorganic?

(A) Natural Gas (B) Coal

(C)  Petroleum (D)  Graphite
(E)  Question not attempted

FTTRIT H & S |1 @S AT T SThie e 87

(A)  STHfdeR | (B) I
(©)  uferm (D)  I1EE
(E) oFdia g

Which of the following is not a type of Iron ore?

(A)  Siderite (B) Limonite
(C)  Magnetite (D) Lignite
(E)  Question not attempted

frfafad 3 @ i Tiie 1% 1 THR 787 22

(A) i 3w (fasuse) ®) foHmrEe
(©) e (D) fomse
() SAfdia s

The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole
that can be placed in it, is:

(A) 19m B) 18m

) 17m (D) 15m

(E)  Question not attempted

T FHT 12 Y T, 9 i <t 3 8 Hi St 21 S0H TS ST Hehel aTed o119 3 $ ShY STfUehad ofelTs I1d hifery |

(A) 19t (B) 18
(© 174 (D) 154
() SAgdia s

The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?

(A) 110m (B) 119m

(C) 115m (D) 84m

(E)  Question not attempted

Te TR A1 o AR AR S shi SAfaie aifer 660 X 21 af aer 14 #iet =iter 2t dt sweh sy witfer st e,
(e ) am gnft

(A) 110 (B) 119#e
(© 115HR (D) 84t
(E) oIy

A shopkeeper sold an article for I 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?

U THMRR A FoReT a6 I 20% T BT T 400 H =M 10% T A FAM o 0, 30 36 9% 1 g shimd
EERIRCHITHWY

(A) T 550 B) T 500

(©) T520 (D) T 530

(E)  Question not attempted / 3@'&?{ 99

All | 7 [ P.T.O.
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Which of the following is the application of computer mostly used in medical field?

(A)  To create advertisement (B)  To visualize 3D objects
(C)  To provide distance education (D)  To provide assistance in surgery

(E)  Question not attempted

freferfia & & et w1 -1 Ueefiene Tea: fafhredter & & weife 22

(A)  ToFTE 1 g (B) 33 SATesideH i TIL I@HT
(C)  oTey fanefm wa e (D) o Turfhed  weTar &1
() SAfdia s

Which of the following is not the class/category of computers?

(A)  Micro Computer (B)  Mini Computer
(C) Mainframe Computer (D)  Parallel Computing
(E)  Question not attempted

freaferfiaa & & si-oft shrorget o art/amf & 78 82

(A) TS TR (B) Tt s

(C)  HTohH I (D) A TR

(B) raRayy

Which Indian has won the 2023 Ramon Magsaysay Award? (Choose the most appropriate option from below)
(A) Kailash Vidyarthi (B)  Ghazal Alagh

(C)  Gautam Adani (D)  Ravi Kannan

(E)  Question not attempted

TR AT = 2023 3T T H7e JEhR SHar? (P 5 © Eerdl 393 forehed =)

(A) e feremeff (B) TSI 3T
(C) it 3TeHY (D) WaH
() SAqdia s

Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A) Mahatma Gandhi (B) C. Raj Gopalachari
(C)  Sardar Vallabhbhai Patel (D)  Rafi Ahmad Kidwai

(E)  Question not attempted
T T o T8l 3U-SETHAT 371 T8 ol i o2

(A)  ETeHT Tieft (B)  ©T. T MR

(C) TGN IoTvTs U (D) THI 37eH< fergas

(B) ruRauy

After the partition of India in 1947, which of the following archaecological sites remained on the Indian side ?
(A) Harappa (B)  Mohenjodaro

(C)  Gunveriewala (D) Kalibangan

(E)  Question not attempted

1947 ¥ R o FTS o 18 FHTARad H § I |1 qUdTicash e A o 0% o &1 H T8 T ?

(A) BT (B) HIESige!
(C)  TeRiaTeT (D)  HreAtE
() SAgdia s
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Who is the family deity of Bikaner royal family?

(A) Karni Mata (B)  Jeen Mata

(C)  Sakraya Mata (D) Aai Mata

(E)  Question not attempted

I ST TSI hT Fretad &2

(A) =l e (B) St @

(C)  EhT AT (D) TS AT

(E) SAgdia s

As per the Constitution of India, the name of a state in the Union of India can be altered by -
(A)  Cabinet Committee (B)  Governor

(C)  President (D)  Parliament

(E)  Question not attempted

IR o T o STTEI, W1 A o forelt s o1 A faferfiaa # © formres g afataa foram ST aehar 22

(A) dbmiga afafa (B) TsIU

(©) g (D)  wwe

(E) SFdia ¥y

When was Rajasthan Information Commission constituted ?

(A)  April 18,2005 (B)  April 18,2006
(C)  April 28,2005 (D)  April 28, 2006

(E)  Question not attempted
TSTET =T ST 31 T3 el GHAT?

(A) 1837, 2005 (B) 18 37, 2006

(C) 28 3T, 2005 (D) 28 3T, 2006

(E) SFdia ¥y

Which of the following position is not mentioned in the Constitution of India?
(A)  Prime Minister (B)  Chief Minister
(C)  Deputy Chief Minister (D)  Loksabha Speaker

(E)  Question not attempted

frmfafga & @ w9-8 yg o1 Y g@faeam § Seorg 78 fomam man 22

(A)  gerEt (B) Al
(C) STqETH (D) AIRET e
(E) SFdia ¥y

Who among the following commonly serves as the Chancellor of State Universities?
(A)  Prime Minister (B)  Minister of Education
(C)  Chief Minister (D)  Governor

(E)  Question not attempted

freaferaa o & s =i s faafrrmera o Fafadta & &9 1 wr L 8?

(A)  gerEt B) et
(C) Tt (D) TSI
() SAfdiayy
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Given below are two statements:

Statement (I): In April 1919, the Udaipur state government formed a Commission under the chairmanship of
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. The Commission
advocated various recommendations for the benefit of the farmers.

Statement (II): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance should be made
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajputana.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

Frr g e fer e :

o (1): TorsTiforan fopam sht St sl T o6 foT, ST shi Tsd I = 3T 1919 H, Toh TR T e HIVSATe
RThIH forgetTer SgTeTel ol STeaerat & Tiaq foham e 3 foramt o fed o forg sries srgeiamd =1

AT (I1): WA T o FoIRT HAATeRT o AR 3BT AT o7 o ferstiforan fopem deImerd & i ol qed SoIToT sh
ST ST TS H [RET e T féTeres &9 of @l 2

SURIh T o AT H, A< 30 T foshedt # & @@ 3uges 3¢ 4|

(A) I (1) 3 FH (11) IHT T & (B) U (I) 3T (11) IHT & 7T &l
(C) A (I) |& & Aok e (1) TeAd 2l (D) U (1) 7o 2 TR e (11) T Rl
(E) SFdiawd

Who of the following social reformers was associated with the abolition of Sati Pratha?

(A)  Vivekanand (B) Dayanand Saraswati

(C)  Raja Ram Mohan Roy (D)  Govind Ranade

(E)  Question not attempted

FfTa SHTST GuRes # & i &l T4 IHT o a1 [ 8T A?

(CNICEEAET (B)  @aTiE wrwad
(C) TSI Higd T (D) e TR
() SFgdia s

“The Indian War of Independence”, book was written by whom?

(A) Mahatma Gandhi (B) R.C.Majumdar
(C) Baba Amte (D)  Veer Savarkar
(E)  Question not attempted

(A)  WETeHT et (B) R Hl. WSHER
(C) el 37 (D) SR
(E) oIy

In which of the following year United Nations adopted the UN guidelines for consumer protection?
ey a1z 3 o @ o 4 ity s 3 fora e g 3 e et o svo

(A) 1979 (B) 1981

(C) 1983 (D) 1985

(E)  Question not attempted / Hﬂﬂﬁﬁ EE)
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Which among the following organizations control the business of Insurance in India?
(A) RBI (B) LIC

(C) IRDAI (D) SEBI

(E)  Question not attempted

FfcTRad ® & I € ST W H ST ST i FHER R 22

(A) IR . (B) US. 3. H.

(C) s, IR, 1. T, 37T, (D) @&t

(E) SFdia

NITI AAYOG was established on: (Choose the most appropriate option from below)
(A) 1% January, 2014 (B) 15" August, 2014
(C)  15™ August, 2015 (D) 1%t January, 2015

(E)  Question not attempted

fifer ST 3 TormeE 6t 1S off: (P | W weE ST foaehed )

(A) 1S5, 2014 (B) 153774, 2014
(C) 1534, 2015 (D) 1SHa, 2015
() SAfdia s

Which of the following statement is not correct about the Tertiary Coal?
(A) Itis also known as the brown Coal.

(B)  Itis an inferior quality Coal.

(C) It contributes to about 25% of the total coal production of the country.
(D) Itis found in the rocks of the oligocene period of the Tertiary Era.
(E)  Question not attempted

frfeaftaa ® @ &9 91 e qofiareh S o dav J et 721 22

(A) T ¥ I o T & off ST @ 2

(B) I o TUTarelT 31 I Bl 2

(C) I F DA ICATEH H 25% T STEH T 2

(D) 8 AT I o TG it shl T H 7T STl 2

(E) 374 O RE)

Karewa formation are useful for the cultivation of .

(A)  Zafran/Saffron (B) Cotton
(C) Jute (D)  Coffee

(E)  Question not attempted

T sTEE () feraeht @t 3 fore w27

(A)  FE (B) HU™E

© ' (D) FH

(E) SFdia ¥y

Which of the following river is right bank tributary of the Ganga River System?
(A) Ramganga (B) Son

(C) Gomti (D)  Ghaghara

(E)  Question not attempted

ffarfiaad = & =i i 7, 7i et yomedt o6t afet werre 44t 82

(A) T (B) @A
(C) Tt (D) O TERT
() SAfdiayy
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Son river is a tributary of which of the following?

(A) Ganga (B) Yamuna
(C) Mahanadi (D) Narmada
(E)  Question not attempted

g A A H 8 foraeh weTeeh 6 22

(A) T (B) A
(C) wEMal (D)  Har

() SAfdiayy

The Southern most Himalayas are known as

(A)  Shiwalik (B) Himadri
(C) Himachal (D)  Aravali
(E)  Question not attempted

YL (W) Te0T TeHTeT™r shi forer T & ST SfTeft @ 2

A) frenfas B) femmh
(c) feumat (D) TEA!
(E) oFfdia gy

Which one of the following is the oldest oil refinery in India?

(A)  Mathura refinery (B) Koyali refinery
(C) Digboi refinery (D) Haldia refinery
(E)  Question not attempted

frefaftaa & 9 ara f grias 9o feeTd -t g 2

(A) "y fersd (B) el fewrsd
() femang frmrgTdr (D) efcea frwead
() SAfdiayy

‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the following famous mountain range?
(A)  Nilgiri Mountains (B)  Aravali Mountains

(C)  Satpura Mountains (D)  Pir Panjal Mountains

(E)  Question not attempted

“SISWET AHHTG hl T Iaqw =1 8| TE I+ | W -6t g Teidl 2@l T Teh Wi 22

(A) Al veq (B) 3WEe yad
(C) waYsT veIfear (D) R e v
(E) oFfdia gy

Choose the most appropriate Hindi word for - “Endorsement”.

(A) ST HET (B)  UBTHA &HT
(C)  9SH AT (D) SR T
(E)  Question not attempted
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Which of the following best describes the function of control unit?

(A)  Control the operations of memory, processor and input/output devices.
(B)  Perform the logical operations.

(C)  Convert the external data to form understood by computer.
(D)  Perform the arithmetic operations.

(E)  Question not attempted

frfefad @ & i, Shgier I % HHIT 1 aaian Jui a2

(A)  HUH, THE 3 39E/3TSYE TR o TiETer sh fHemor
(B)  Tehh aiETer ol feames

(C)  STel (T ST ohi HPe UHE UH & | qiafad it
(D)  SRTTTTT gftaret a1 fsares

() SAgdia s

Which of the following facility is mainly provided by E-mitraplus initiative of Rajasthan?
(A)  To apply for birth certificate, domicile etc.

(B)  Payment facility for individual firms

(C)  GIS based Decision Support System

(D)  Video conferencing

(E)  Question not attempted
freferfiad & & i i gloren gera: o i 3-fime ged gR Yam i S 82

(A) 9 SHTOT 9, HATeame & foT smaeT o (B)  fofkre wfemmi ot vrrar <t gferem 3
(C) it o1is. ww. srenfia ol wereres yoreft (D) difea sk

() i@y

Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Income Tax (B)  Sales Tax

(C)  Custom Duties (D)  Corporate Tax

(E)  Question not attempted

Freafafad o @ & 91 T, TRd SR & T Haiieres Tsrea ohT SUTSH Hidl 87

(A) AR (B) Twhra
(C) HH e (D) T (@idie) o
(E) SFdia g

Which of the following is outside the ambit of GST?

(A) Natural Gas (B) Tobacco
(C)  Alcoholic Liquor (D)  Motor Spirit
(E)  Question not attempted

frfefiad o & =i oq Te SaT L Al aifr @ At 87

(A)  TRfdes (B) d&m®
(C) WEH (D) ared ffe
(E) SAgdia s
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Which of the following is an example of joint sector industry? (Choose the most appropriate option from below)
(A) Hindustan Aeronautics Limtied (B)  Oil India Limited
(C)  Steel Authority of India Limited (D) Bharat Heavy Electricals Limited

(E)  Question not attempted

frfafad o & = 91w & I T T 3eTeT0 &2 (e H & wadt 399 forehed =)

(A) Fgwam wHife fafies (B) 3 s fafiiee
(C) T At AT e feafies (D) RQ Bl seifogehed fafiee
() SAfdiayy

Which of the following is a mineral-based industry?

(A)  Textile Industry (B)  Fish Oil Industry

(C)  Petrochemicals Industry (D)  Food Processing Industry
(E)  Question not attempted

frefeafiaa & @ & o1 @i st s 82

(A) =TI (B) TS =M

(C)  UZIhiteRet 3TN (D) T JHEHIT ST

(E) oFfdia gy

Which of the following statement is not correct about the Chhota Nagpur Plateau Industrial region?

(A)  This region is popularly known as “Ruhr of India”.

(B)  This region extends over Jharkhand, Chhattisgarh and Andhra Pradesh.

(C)  Ranchi, Dhanbad, Chaibasa, Sindri are some important industrial centres of this region.

(D)  This region owes its development to being rich in iron ore from Jharkhand-Odisha and coal from Damodar
Valley.

(E)  Question not attempted

freafaifiad & & 1 |1 Fu Biet AT TR Penfen & & e # wet A 2

(A) IE &F “9Id % &eL”, 7 ¥ foreama 71

(B) ¥ & SINES, TEE I ST TIwT ok el 5o 2

(C)  Th, oaTe, =mdama, e, 3 & o eyt fenfies % 2

(D) 39 & 1 faeT SR S-STITeeT & Tiie 3T TR STHIGT H1el o hidcl & Y3 8 oh Il g3 2
(E) oFfdia gy

The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law’ which was propounded by -
(A) Paul Janet (B) A.V.Dicey

(C) Lord Acton (D)  Ivor Jennings

(E)  Question not attempted

ST o THE GHIAT ohl ST ‘ST o 6’ sh1 ST T T dcdl 8| 39 ook g0 Sfafaa feram wma e

(A) S (B) T erEE
(C) e udeA (D) SR SIfHE
() SAfdiayy

All] 14 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

65

66

67

247

Match List-I with List-II.

List-I List-1I
a. Chipko Movement L Afro Asian Conference
b. Bandung Conference II. A proposal made by big industrialists in 1944

for setting up a planned economy

c. Dr. P.C. Mahalanobis III.  An environment movement to prevent cutting
down of trees

d. Bombay Plan IV.  Economist under whose leadership the Second

Five Year Plan was drafted

-1 3 e gefi-11 37 et shifs)
Teit-1 Teit-11
a.  fooet sfidem I TH- TR g e
b. ST AT L O RS stefeereer ofud o o foTg 1944
¥ S7¢ AT SR FoRaT T Uk ST
c.  SfdiH. Hererfo| L OS] T eTs Teh o foTe ek e stider
d  dwwH IV.  Sreferelt ook e o ot defersier 1o a1
HHIET qIT foRa T o
Choose the most appropriate answer from the options given below:
et fow e foeredt & @ waTfaes Iug Sa |
(A) a-Lb-ILc-IV,d-1II (B) a-I,b-Lc-IV,d-1III
(C) a-NLb-Lc-1V,d-1I (D) a-ILb-ILc-1V,d-1

(E)  Question not attempted / Cﬂiﬂiia EE

The famous speech by Pt. Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
(A)  Tryst with destiny (B)  Tried with destiny

(C)  Tryst with honesty (D)  Tryst and Co-operation

(E)  Question not attempted

14-15 STTET 1947 1 7ex TH i qived STATet ATet 16% SR [T TR TTHg, S0 e ST @ -

A)  fowefaasfeh B) 7S for Sfeeft

(€) fowe fog e (D) foe wg H-AMEE

(E) Srgdia gy

The cities that were divided into communal zones during the partition of India were-

(A) Lahore, Amritsar and Hyderabad (B) Lahore, Amritsar and Calcutta
(C)  Amritsar, Calcutta and Jammu & Kashmir (D) Lahore, Bihar and Calcutta

(E)  Question not attempted

W o fa9ToTT 3 S0 E9eTiies &1 H sie 7T 38T 9:-

(A) TIRR, 3THqEX 3T 2aUeg (B) TITRR, 3THAER TR FHeAahdl
(C) ST, FHeThT SR S FHTT (D) <TER, foer 3R wHerehan
(B) raRayy
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Which of the following is not a Kharif crop?

(A) Maize

(C) Gram

(E)  Question not attempted
frefeafiaa 3 & =i T Tl we 787 2
(A) HahT

(C) =

(E) i@ gy

Fill in the blank with the most appropriate option :
Tk T Rl wed 3fa forehew @ it

9,28, 65, 126,

(A) 204

(C) 206

(E)  Question not attempted / Hﬂﬂ'ﬁﬁ a9

In the given question, choose the number letter group which is different from the others.

faq TTq w21 # o7 T S7ER WHE I S I U S 8
(A) PH3

(C) IB5

(E)  Question not attempted / ST T

Select the related word from the given options :
Animals : Zoology :: Blood : ?

(A) Hematology

(C)  Anatomy

(E)  Question not attempted

few TTu ot # @ Geiferd 31eg o1 =@ i
SIECI Gl?\'l)ﬁfl’l’v—l 2 TTh: ?

(A) feadErst

(C) TARH

() SAfdia s

e 3o, e 8 @ form Sieft & o sar 22
(A) ST

€ FTTN

(E) SFdia s

All]

(B)  Pearl-Millet

(D) Rice
(B) 4=
(D) 9d
(B) 194
(D) 217

(B) XL2
(D) OE3

(B) Pathology
(D)  Entomology

(B) U
(D)  TAZMEIATST
(B) WeAW &Y
(D) YT TE

D
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Read the passage and answer the questions that follow: (Q. 73 to 76)

Show me a doctor who is not confused about nutrition and I will show you a doctor who has not kept up with research.
Though nutritionists like to claim that basic nutritional advice does not change from year to year, the truth is that each week
brings new studies, new research and new health warnings. Nor do all the studies agree with each other. Often they are
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry, which has a vested interest in the outcomes. And
much of the so-called nutritional wisdom that has been propounded over the decades does not emerge out of pure science but
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thing may be the rule - rigidly advocated by some doctors over the years - that
breakfast is the most important meal of the day. Skip breakfast, you will be told, and there will be damaging consequences
for your health.

You can trace the roots of the advice to (surprise, surprise!) the American cereal industry and to such food faddists as the
Kellogg family (owners of the eponymous cereal company).

It has always been a peculiarly Anglo-Saxon idea. People do eat breakfast all over the world but they do not necessarily
attach such great importance to it. Nor do countries without a breakfast tradition see a sharp decline in public health. For
instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the morning doesn’t really hurt the French very much. Until the fast food industry spread all over
France in the last decade or so, the French had much lower rates of heart disease than most English-speaking countries.

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like pancakes with sugar
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-is-essential myth has
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers of
sugary cereals are quickly putting out new ‘low-sugar’ variations.

Some doctors still insist that the first meal of the day may be the most important. But the scientific evidence supports the

view that if you avoid breakfast nothing terrible will happen to you.

73 Complete the sentence by choosing the correct option:

In reality the benefits from advocating the need for taking breakfast.
(A)  general public (B)  French people
(C)  children (D)  food Industry

(E)  Question not attempted

74 According to the conclusion of the passage, breakfast -
(A) Is essential and not to be skipped. (B)  Skipping cannot harm you.
(C)  Is the most significant meal of the day. (D)  Contributes to an individual’s health.
(E)  Question not attempted

75 In America, obesity and tooth decay have assumed the proportion of an epidemic because of the -
(A)  Vested interest of the general public (B)  Consumption of sugary cereals.
(C)  Greek idea of breakfast. (D)  Consumption of savoury food
(E)  Question not attempted

76 Bogus means .
(A) False (B) Big
(C) True (D) Confident
(E)  Question not attempted
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Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1957 to 1960 (B) 1961 to 1964

(C) 1966 to 1969 (D) 1969 to 1972

(E)  Question not attempted

W ¥ U=as T AsHTe ° 8 9 9 8 i & 1 IS ohl AT 3TeehTeT SIS foham i o

(A) 19579 1960 (B) 1961 & 1964
(C) 1966 T 1969 (D)  1969F 1972
(E) SFdia

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

1. FIAT o STFISHL AN [aTE HERIAT AT HTTRad H & fohd s 5 TF sht 113 off?
(A) 2006 B) 2007

(©) 2010 (D) 2012

(E)  Question not attempted / ﬂﬂﬂﬁ’ﬂ 99

Rajasthan handicraft policy has come into force on .
(A) 17 September, 2022 (B) 18 September, 2022

(C) 20 December, 2023 (D) 23 November, 2023

(E)  Question not attempted

TISTET EYeRTelT i EAC R

(A) 17 f&dsr, 2022 (B) 18 fdsw, 2022

(C) 20 fagsw, 2023 (D) 23 &R, 2023

() SAfdiayy

Which of the following facility is not provided by the Rajasthan Sampark Portal?

(A)  Grievance Redressal (B)  GIS integration and data analytics

(C)  Video-conferencing (D)  Automatic Speech Recognition (ASR)

(E)  Question not attempted

freaferfiaa & & 1 i gferem TeET Hush diéet g e g T S 22

(A) Tt 1 fuer (B) it 3TTE. uH. wehIRIoT 37T SAishet ohT farshwor
(C) e Hihtem (D) AT T fhmiHe (ASR)

(E) oFdia gy

Which of the following two states have a joint plan under Mahi Project?

(A)  Rajasthan - Madhya Pradesh (B)  Rajasthan - Punjab

(C)  Rajasthan - Gujarat (D)  Rajasthan - Haryana

(E)  Question not attempted

freaferaa o & for 1 Troat o AT TiEISHT U g A1 22

(A) TS - HeT Y9 (B)  TSTEIM - UsTTel

(C)  TSTEA - TSI (D) TSEYM - g

() SFgdia gy

The characteristics of computer in which, computer can perform different types of tasks with the same ease is
known as:

(A)  Speed (B)  Versatility

(C)  Reliability (D) Diligence

(E)  Question not attempted

ST 1 F8 -6t fafrear 2, o sheget i S o st ot e & feared s 22

(A) Tid (B) sgHdEl
©) frgea (D) w3
(E) SFfdia gy
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Which of the following is not a Constitutional Body?

(A)  Union Public Service Commission
(B)  Finance Commission

(C)  Election Commission

(D)  National Human Rights Commission
(E)  Question not attempted

9 | i |1 Ueh Tk Hehrd Tl 52

(A)  EF Al BT AT

(B) for smmT

(C) TS N

(D) U AR SR

(B) raRayy

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A)  Nepali (B)  Sindhi

(C)  English (D)  Santhali

(E)  Question not attempted

frfafaa & & s i v s it smae see i 7 22

(A) et (B) faeft
(C) st (D) Gt
(B) raRayy

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Subject (B)  Salutation
(C)  Signature (D) Heading
(E)  Question not attempted

Fill in the blank by choosing the most appropriate option:

He was indignant being cheated by the smooth talk of the salesman.
(A)  with (B) in
©) of (D) at

(E)  Question not attempted

Change the direct speech into indirect speech by selecting the most appropriate option from below:
He said, “I do not wish to see any of you, go away.”

(A)  He said that he had not wished to see any of them and ordered them to go away.

(B)  He told that he did not wish to see any of them and ordered them to go away.

(C)  He said that he does not wish to see any of us and ordered us to go away.

(D)  He told that he did not wish to see us and ordered us to go away.

(E)  Question not attempted

Change the sentence into passive voice by choosing the most appropriate option:

They feed the seals at the zoo twice a day.

(A)  The zoo feeds the seals twice a day. (B)  They feed the seals twice a day at the zoo.
(C)  The seals are fed twice a day at the zoo. (D)  Twice a day the seals are being fed at the zoo.
(E)  Question not attempted
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The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is ¥ 7500. What is the simple interest on

same sum for 8§ years, if the rate of interest is increased by 2.5%?

afe 7.5% e saTel Y G/ § AT H Teh TR TR 7,500 ATERT SATS ST 21 TS ST SRR AT 2.5% s fen Sme
T § T H AT SATS T TRTI?

(A) 20,000 B) T 12,500

(©) 10,000 (D) % 12,000

(E)  Question not attempted / 3‘@??{?{ 99

ST Teh &1 T o BEd AT 216 &Y GI-H1Y ATC a1 141 S o T T hI--81 T &l ST 82

(A) TEER (B) dHwR

(C) FETHR (D) iR

() gy

Geostationary satellites are positioned at km upward distance from earth surface.
PR STTET T T et e Toret o ot g o form SfrerT 21

(A) 26000 (B) 36000

(C) 55690 (D) 45990

(E)  Question not attempted / ?ﬂiﬁitﬁ BE)

Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper nitrate and hydrogen gas (B)  Copper nitrate, nitrogen monoxide and water
(C)  Copper nitrate, nitrogen dioxide and water (D)  Copper oxide and dinitrogen oxide

(E)  Question not attempted

ATz ATefesh U (aq) disT (1) & SAfafRaT shieh e 2-

(A)  FTRATEE T FTEgIS 10 (B) T gL, TRZISH HIIaTES T Tt
(C) W ATELE, ATEZISH STEATHATES U I+ (D) W STFHTES T SEATEZISH TS
(B) ruRayy

Colour blind person is unable to discriminate between :

(A) Red and yellow colour (B)  Blue and red colour

(C)  Red and green colour (D)  Blue and green colour

(E)  Question not attempted

JUTTET (heT SATSE) ATk 3 T % e 9g i § 31emed T e :

(A) ST HI o & (B) e s ame &t
(C) @ IREqa (D) e sfEwa
() gy

Select the option that is related to the third letter cluster in the same way as the second letter cluster is related to the
first letter cluster.

et 3 @ 3w foreped o1 =1 ST ST et s1em ave & 36t wehm Feiferd @ fore wehm fiefier stem wwpe wom s1er ofg o
Heiferd 2|

WOUNDS : DNOSUW : : ALMIGHTY : ?

(A) AIGHTYLM (B) AIGHLMTY

(C)  AGHILMTY (D) GILHMATY

(E)  Question not attempted / 34@?'?@ EE
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How many numbers from 11 to 70 are there which are exactly divisible by 7 but not by 3?
(A) Nine (B) Five

(C) Seven (D) Six

(E)  Question not attempted

119 70 5 e Tt SEATd & ST 7 © YUiaam 9Ts9 & T 3 § 3TW1S9 22

(a) (B) Ui
(C) ¥ (D) B8
() SAfdiayy

15

On increasing the numerator of a fraction by 15% and decreasing its denominator by 8%, the fraction becomes E ,

the original fraction is:

afe ueh =T o 32 AT 15% QT oo Sy TR 390k 8T i 8% w1 foa e dt vy o1 a1 % EEGINESIESEIC
Hifr -

w Y ® Y
© % © V4

(E)  Question not attempted / ?Eliﬂita EE

Amit, Sumit and Vinay divide an amount of ¥ 2800, amongst themselves in the ratio of 5 : 6 : 3 respectively. If an

amount of ¥ 200 is added to the share of each, what will be the new ratio of their shares of the amount?

Ao, i ST farr % 2800 T eFRIRTST S5 2 62 3 3 S1aTa & foranfora s o 21 afe were o fesdr 5% 200 e feg g

T TR 3ok Tl 6T AT ST AT S
(A) 6:9:4 B) 6:7:4
) 7:8:5 D) 4:5:2

(E)  Question not attempted / 34351'?6 BE)

The average of 11 observations is 50. If the average of first six observations is 40 and the average of last six

observations is 55, then the sixth observation is:

11 STaeeRAT 31 ST 50 2137 Taet B8 STaeieH1 ol 3 40 2, 37K 3ifan 3 statie &1 37ed 55 2, 1 a1 sTaeid
2

(A) 30 (B) 40

© 20 D) 35

(E)  Question not attempted / 34':!3?'?@ EE

Zinc reacts with dilute nitric acid (aq) to give

frfafaa sfawet o forg stear o rsfeer 31T (aq) & wfafsram aar g

(A)  Zn(NO,), + H,0 + N,0 (B)  Zn(NO,), +H,

(C)  Zn(NO,), + H,0 + NO, (D)  Zn(NOj), + NO + H,0
(E)  Question not attempted / 34':!3?'?@ a4
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Which of the following is not a part of chromosome?

(A)  Satellite (B) F, particle
(C)  Centromere (D)  Chromatid
(E)  Question not attempted

SRR (o) 1 freforfiaa § & s @ T feea (a7em) 7t &

(A) @edrEe (B) U®, UIfésha
(€) HgIftER (D) wfs
(E) oFgdia gy

Nathu La Pass is situated in which State / UT of India?

(A) Meghalaya (B)  Jammu and Kashmir
(C)  Sikkim (D)  Arunachal Pradesh
(E)  Question not attempted

AT I (F0) TR 6 foby T2t / Shesrmmiina e H feorq 22

(A) TETAT (B) TR 3R

(C) Tuferm (D)  STRUTEIA YT

(E) oFfdi@ gy

Who is the head of the Indian Audit and Accounts Department?

(A)  Finance Minister (B)  Comptroller and Auditor General of India
(C)  Prime Minister (D)  Attorney General of India

(E)  Question not attempted

R I e 7R e forsmT o S i 82

A) st (B)  IRA o fi=reh Ud HRTeraTuiiersh
(C)  vamHt (D) IR o HET=REE (T STHEeT)
() SAfaiayy

Which of the following is not a constitutional post?

(A)  Governor (B)  The Chief Justice

(C) RBI Governor (D)  Speaker

(E)  Question not attempted

frfafad @ &9 91 T Hauries g 721 72

(A) TSIUIA (B) T =rmefar

(C) ST 3 T (D)  TATHEHT ST (TR

(E) oFfdia gy

Which of the following is the largest inhabited riverine island in the world ?

(A)  Majuli (B) Umananda

(C) Marajo (D) Doab

(E)  Question not attempted

T 3 @ g =1 e wrgT v gt A& o A AT R

(A)  Feft (B) ST
(C) == (D) T
(E) Srgdia gy
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Which of the following river is not a part of Indus River System ?
(A)  Chenab (B) Kosi
(C) Ravi (D)  Satlyj
(E)  Question not attempted

o 5 2 et 1t et ST o o 7 2 2

(A) =S (B)

(C) Tt (D) FadS

(E) oFdia g

Which of the following Lake is not a Saline water lake in Rajasthan?

(A)  Sambhar (B) Didwana
(C) Pichola (D)  Pachpadra

(E)  Question not attempted

e o 4 oo i 6 Y sfier @ ar B sfier 78 R

(A) €W (B) Sreamr
(C) To=e (fUstem) (D) T=EUE
() SAfdia s

Identify the most appropriate idiom which can replace the underlined words:
Rohit has the reputation of complicating and confusing things when any issue is raised in the meeting.

(A) asclear as mud (B) muddying the waters
(C)  in complete shambles (D)  got our wires crossed
(E)  Question not attempted

Identify the word that can best substitute the given expression:

One who is too strong to be defeated.

(A) Invulnerable (B)  Indefatigable
(C) Insolvent (D) Invincible
(E)  Question not attempted

Identify the most appropriate antonym of the given word from below:

APATHY
(A)  Stoicism (B)  Stupor
(C)  Aloofness (D)  Fervor

(E)  Question not attempted

Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?
(A)  27km (B) 25km

(C) 26km (D) 31km

(E)  Question not attempted

AT I 3T Tt fomm o = 3 foram | ST 24 fob. 1. e 7R s7epe 7 foh, Y. =@ | deqsma S ot 727 31K
7 ToF. Y. =1t 37 sreher 21 qeat 24 fob. Hft. =1 | ST 310 A foig W ot ot o &2

(A) 27T = (B) 25 fF. .
(C) 26T = (D) 31 f&. =
(E) SFdia g
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A, B, C, D, E and F are sitting in a row facing north. E and F are in the center, and A and B are at the ends. C is sitting

on the immediate left of A. Who is sitting on the immediate right of B?

A, B, C, D, E I F T tfth # It o 3R @ F1h o83 8| E 3WF F5 7 8, A B BRI C, A & 3 ard T
T SI3T B B o 3l a1 T W AN 2T 72

A) E B) A

(C) F (D) D

(E)  Question not attempted / 31':@'&?[ 9

Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?
(A)  15™ Constitutional Amendment (B) 16" Constitutional Amendment

(C)  17% Constitutional Amendment (D)  18™ Constitutional Amendment
(E)  Question not attempted

TR Ty orerT SR o 30 =ATATeR o =ARTERI sl HaTa i hl T 60 a9 & TGTRT 62 TN FLar?

(A) 1591 wfaem gues (B) 169l wfarem wume
(C)  17at Efaem e (D) 189 Efaem gmeT
(E) SFfdia sy
Match List-1 with List-I1.
List-I List-II
a. Goods and Service Tax L. Article 82
b. Delimitation Commission 1L Prime Minister
c. Survey of India II.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV. Article 246 A
F=A1-1 o |1 -1 31 et i)
-1 Tei-11
a. U L SR 82
b. T I I o
c. VIR geT (| 3T 3feam) 1. fagm o Prenfiehr fasmr
d. OEAT] S frmT IV.  3TT%8% 246 A
Choose the most appropriate answer from the options given below:
i fou T foreredt & & wariferes 3ug S |
(A) a-Lb-Il,c-III,d-IV B) a-IV,b-Ic-III,d-1I
(C) a-IV,b-Tc-IL,d-1I (D) a-ILb-1V,c-1,d-1II

(E)  Question not attempted / ?Eliﬂita EE

FTRad H & “[UATeRT 368 1 Tt |l foreee &-

(A) o + sfresr B) fm+a
(©) o+ e (D) fudr+ 3mRm
(E) SFfdia s

T, 3158 Tohr T T JaTeTT 27

(A) EHEdTES (B) AfhaTeh
(C)  STfqareh (D) WTEETEH
(B) ruRauy

ToT <1 gf8 & f3pam 3 T forae 95 B1a &

A (B)

(©) =m (D) =

(E) oFfdia gy
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First Indian spacecraft which will carry 3 members and will orbit for 3 days in space is :
(A) NISAR (B) Gaganyaan

(C)  Spadex (D) Bhaskar 3

(E)  Question not attempted

T WA STNEA ST 3 He&i ohl of ST 31 g 3iqier # 3 feai o fog @

(A) TIAETATAR (B) TN
(C) W= (D) W= 3
(E) SFdia

Which of the following is not the allotropes of carbon?

(A)  Fullerene (B)  Ethanol
(C)  Graphite (D)  Diamond

(E)  Question not attempted

freafefiaa & & sia-a1 el 1 T Q) T8 22

(A)  FAH (B) s

(C) TUBIEE (D) sEES

(B) raRayy

Which of the following is responsible for the dark brown or reddish colour given by henna?
(A)  Luciferin (B) Melanin

(C) Lawsone (D)  Hydroquinine

(E)  Question not attempted

TR R TR T STYAT AT T T7 o 2 Frefafad § & i freier war &2

(A) T (B) HertH

(C) e (D)  ETSgIfETE

() SAfdia s

Which of the following input device is used to input temperatures and moisture etc.?
(A) Webcam (B)  Scanners

(C)  Joystics (D)  Sensors

(E)  Question not attempted

frfeRad # & %9 |1 379 STHIT 1 STANT AT ST HATEAT 1 1S (3792) F o ford foparm s & 2

(A) T (B) T
(C) gt (D) T
() SAgdiayy

Cyber security is also called, “Security of Information Technology”. It is used mainly to:
(A)  Connect different computers together

(B)  Used to share the resources on internet

(C)  Stop unauthorized access into various computers

(D)  Used to send letters by post

(E)  Question not attempted

WIS AT I, AT WA Al geenr, o e S @l s swm Refafad st o faw feer
SIGH %:

(A)  fefirer dhegedl 1 g & e

(B) T W HATHHT I ATTH H e § TN o foqw

(C)  Tafir shegedi o STfeeRd AT ol ek o foTg

(D) T ST STk ST #o % forg

(B) ruRauy
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In which year the Indian Space Research Organisation (ISRO) was set up?
freaferfad o & forg o & $feam @ faed SATiATESIeE (ISRO) it T i 718 oft?
(A) 1962 (B) 1969

(€ 1972 (D) 1952

(E)  Question not attempted / 347@'&?{ 99

SVAMITVA Scheme is associated with

(A)  Water conservation in urban areas.
(B)  Demarcation of inhabited land in rural areas.
(C)  Property survey scheme in rural areas.
(D)  Soil conservation in rural areas.

(E)  Question not attempted

Tt AT, foree deifer 82

(A) &l SATeRI | STt e

(B)  TITHIOT SoATeRT H STTITE {0 T Hwish
(C)  UTHIOT ScTehl | TR TSET0T ST
(D) TrHiur SoTent | firdt shT TReqor

(E) oFfdia gy

National Panchayati Raj Day is celebrated on .

(A) 20 April (B) 22 April

(C) 24 April (D) 26 April

(E)  Question not attempted

RPR CI DRI RECE:) T AT ST 2l

(A) 203 (B) 2233

(C) 243 (D) 26 3IA

(B) raRayy

Choose the correct combination from below:

(A) IDBI - Short Term Loans (B) RBI-Long Term Loans
(C)  SBI - Monetary Policy (D) RRB - Agricultural Finance
(E)  Question not attempted

Fretferfia & aelfore walior o1 g

(A) 3. €. off. 3T, - STUHITH H0T (B) W ft. oTE. - elepiietes T
(C) A, st 3. - Hifsn ife (D) R W . - Ffy fom

(E) SAgdia s

How many industries were reserved only for public sector before the deregulation of the Industrial Sector in 1991?
(Choose the most appropriate option from below)

1991 &, SiteNfres at 3 Fafaereer & e, Sverer Ererfeh 07 3 o Fer weii s 17 (e & oy wepes e =3)
(A) 20 B) 14

) 24 D) 17

(E)  Question not attempted / 3@?&?[ aq

The actual growth rate achieved in the 11t Five Year Plan was: (Choose the most appropriate option from below)
11501 oerereffar =it o fopat amecforsh g € Sme sht 18? (Fe o § Herl 393k forehed o)

(A 9% B) 8%

©) % (D) 10%

(E)  Question not attempted / 3@'&?{ 99
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GST Council is a Constitutional body established under the following article:

] TS W L ARE U HoeTie e 2, Foreeht v freforfiaa # @ form srgeess o stwia o1 77 22
(A) 279A (B) 184 (1)

(C) 247 (D) 122

(E)  Question not attempted / 31':@'&?[ 9

Khadi Kamgar Arthik Protsahan Yojana has been implemented in the Rajasthan state from-

(A) 13 July, 2022 (B) 14 July, 2022

(C) 15 July, 2023 (D) 16 July, 2024

(E)  Question not attempted

TR T | G HTHTR AT TIcaTe JISHT ohel & it shi 57

(A) 13 @, 2022 (B) 143, 2022
(©) 153, 2023 (D) 16T, 2024
(E) i@ gy
Match List-1 with List-II :
List-I List-I1
Scheme Launched
a. Shudh ke liye youdh L 26 October, 2020
b. Nirogi Rajasthan Abhiyan IIL. 18 December, 2019
c. Indira Rasoi Yojana II. 20 August, 2020
d. Indira Gandhi urban credit IV. 24 February, 2021
card yojana
-1 o Ao -1 7 e shifer -
Tei-1 Heit-11
RISEN IERIEERE]
a.  EHMCIS L 263, 2020
b,  Tef asEaH sihEm I 18 fEsK, 2019
c. sfeuwEg T L 20 3T, 2020
d.  few e st e #E giemr IV. 24 %@Ed, 2021
Choose the most appropriate answer from the options given below:
I fow T forpedl o & wafieres 3uge S |
(A) a-Lb-ILc-1Ld-IV (B) a-IL,b-ILc-1V,d-1I
(C) a-U,b-IV,c-1,d-1I (D) a-IV,b-Ill,c-1I,d-1

(E)  Question not attempted / ﬂa?lﬁ_d a4

Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from
below)

(A)  Western Rajasthan (B)  Eastern Rajasthan

(C)  Northern Rajasthan (D)  Southern Rajasthan

(E)  Question not attempted

gfeaa Tieft e ST (3. S . o) i fefafad § @ freeht sreR, St war 71 S 22 (R & & 9o S0
[EETSRCE)!

(A) Ul s (B) & TUSEAH
(©) 3;1:1% T (D)  afeoft Teteem
(E) T T

What is the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulses
launched in Rajasthan in the year 2007-2008?
TSTEA H 9 2007-2008 H ST ToRT 71 71 371 3Tl o TS wTer eer e (T, T, Th. TH.) % ffT GOZ T& GOR

& W % T2 T TG 1 82
(A)  60:40 (B) 50:50
(© 70:30 (D) 80:20

(E)  Question not attempted / 3F|0?||5[?'| BE)
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Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A)  Mumbai (B) New Delhi

(C) Kolkata (D)  Chennai

(E)  Question not attempted

forfearat firmee arie (|ifte) 2024, TR sTex / Shgemféa Jesr o ST foham e

(A) =3 (B) 7 foeett
(C)  whIcTshrar (D) ==
(E) SFdia s

Poona Pact 1932, was associated with which of the following Leaders?

(A)  Mahatma Gandhi and Muhammad Ali Jinnah  (B)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah
(C) Mahatma Gandhi and Pt. Jawaharlal Nehru (D) Mahatma Gandhi and Dr. Bhim Rao Ambedkar

(E)  Question not attempted

AT |EEiT, 1932 e & & ford wareti & geiferd o

(A)  HETCHT el ST qrAe STt = (B) 1. sfHIa AFoIgeRt Ud HerHs e ST
(C)  weTeHT il U ufed STt T (D) weTeHT el ue €. sfiue st
(E) SFdia s

Who established Depressed Classes Association?

(A)  Mahatma Gandhi (B)  Dr. Bhim Rao Ambedkar

(C)  Jawaharlal Nehru (D)  Muhammad Ali Jinnah

(E)  Question not attempted

gford ot wred, fore et form?

(A) Tt el (B) .+ et

(C)  SHETEEe HEE (D)  HEHg et o=

(E) SFdia s

Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.

(A)  has not furnished (B)  had not furnished

(C)  didn’t furnish (D)  doesn’t furnish

(E)  Question not attempted

Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a, the, a, a (B) the, a, , the

(C) an,the, an, a (D) a, a, the, the

(E)  Question not attempted

Identify the most appropriate English translation of the given sentence:
T TSI AT gaT @M o foTg aTet 317 7T

(A) He came out to eat a little fresh air. (B)  He came outside for a breath of fresh air.
(C)  He gulped some fresh air outside. (D)  Fresh air can be had only outside.
(E)  Question not attempted
freafafea & @ wF-Hf saf=t oteiy €2
a. E) b. S
c. d d. B
€. q
i fou T foreredi # & wariferes 3ug ST 1 = HIfU:
(A) Fadb,c 3 d (B) ada,c3ie
(C) Facia, d3fe (D) Faab,d e

(E) SFdi@ sy
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‘Deputation’ % foru &t o gmmredeh vreg 2-

(A)  kfgRE B) f®
() wiaf (D) fafa
(E) i@ gy

Arrange the following words according to dictionary arrangement:

frfeiad wreal i wrearaet (FeTemil) HATISH o SFTER Fatead HIfu;

a. Except b. Expect
c. Excess d. Exit
Choose the most appropriate answer from the options given below:
e fow T fereredt o & waeres ST ST |
(A) b,d,ac (B) b,a,d,c
(C) «c¢c,d,ab (D) a,cdb

(E)  Question not attempted / 3F|j‘||5[ﬂ BE)

Choose the venn diagram which best illustrates the three given classes:
8 o 3T T it g TG off T b Heitae F9 & ERIie 2

Flowers, Red, Fruits
B, AT, A

. @D

(E)  Question not attempted / 3‘@?&?[ Iq

There is a definite relationship between figures (i) and (ii). Establish a similar relationship between figures (iii) and
(iv) by selecting a suitable figure from the options. So select a figure from the options that would replace question
mark (?)

AT (1) 3T (if) % o= vk Ffar defer 81 ool § & SR STThfd 3 == ek ATH( (iif) T (iv) o siTe qu Haie
TTIUT il FATCTT forencdl § & 36 STThTd 3T =13 o SIT (?) T Tog o1 €M

Problem Figure / 9H&IT 33|'|7>h‘ﬁf

OIPIO) ?

(i) i) i) @)

. [® - [
- [ e

(E)  Question not attempted / Hﬂﬂﬁﬁ EE)
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National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for across the

Rajasthan state during the financial year 2022-2023.
(A)  rural poor (B)  urban poor
(C)  tribal poor (D)  slum poor

(E)  Question not attempted

forefiar o 2022-23 3 S EUT TSTET TS H T ATEOT SATSforehT iR (T, ST, T, W) o1 foramaes &

Tl 3 o forg fopar mm 2

(A) T faee (B) el e

(C) S frefa (D) it gt el

() SAfdiayy

Cooperative movement in Rajasthan region was started in the year . (Choose the most appropriate option

from below)

TSTEAT &7 § Feahi STaIe ol EATd i H S | (e 9 & T Ik forshe =)
(A) 1904 (B) 1910
(C) 1912 (D) 1914

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

it 3t e fag e

O (1): Tifeam erq o firgh 3 oo o wufeq fora ST 2 wRifer g steafire ffsramerss 2 21
HAT (I1): ST T AN & Tereral § Afrfsra s 2

SHIH e o ATl H, i< fou T foeredi § @ @@ 3ug S |

(A) I (1) 3T FH (11) IHT F & (B) A (I) 3T (I1) ST & 7T &l
(C) A (1) 9l & AT e (11) Teid 2l (D) A (1) TTeTd © Afeh e (11) T 2l
(E) SFqdia sy
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At the time of India’s Independence, how many Riyasat were there in present day Rajasthan (Rajputana Region)?

(Choose the most appropriate option from below)

T ShT T ST o S0, 37T o TSRl (TS &) | feraet framea off 2 (e o & werd 3o foered )
A) 19 B) 21

©) 25 D) 29

(E)  Question not attempted / Cﬂgﬂﬁ_cf EE

‘Indian National Army’ (INA) was created by- (Choose the most appropriate option from below)
(A) Lala Lajpat Rai (B) Bhagat Singh

(C) Bal Gangadhar Tilak (D)  Netaji Subhash Chandra Bose
(E)  Question not attempted

“3TUSAA I AT (HATS. T T,) 3 TS Toheh GRT TohAT AT 12 (1 | o Wl SRIeh forehed <)

(A) ATAT AT T (B) q fég

(C) et TMTER foreteh (D) TSt AT =g S

(E) i@ gy

Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A)  Potti Sriramulu (B)  Sriram Gandhi

(C) Ramlal Gaya (D) B. P. Sarabhai

(E)  Question not attempted

39 ATtk 1 A SATSS 1952 H qereh 38 TS hl TATIHT o6 ToTT SR T SIS T 9, 3 M o S & IAeh! 7 &
Tt off)

(A) g S (B)  fiwm ieft
(C) THATA T (D) st oY, T
(E) SFdia ¥y

Given below are two statements:

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily to the uprising of the civilian
population.

Statement (II): Mutiny was a collective disobedience of rules and regulations within the armed forces.

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Both Statement (I) and Statement (II) are correct.

(B)  Both Statement (I) and Statement (II) are incorrect.

(C)  Statement (I) is correct but Statement (II) is incorrect.

(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted
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